











Q.Z'Zl—FlO}—QC':O
G
= b+ \@8 T

Ja
= (A e'?
(0,
Se A= WY Q T
DI MOSTRA }\ONE 95

W= W1 @”‘) / \)(/J’Q_:I\X/lbé’/laZ
A=w?— [b8l= W] mfg(ﬁ\)—‘lff

) )
J\T}\@Mﬂ% - lWl@d):\X/

%




?3(2) .-.-,%3’ (2+()2’“+z(1u')z2 _20
(1) VERIF1CARE C“E?g(l' Y= 0

(2) caLcoage T3(2)

—

2 -C
(3) DETE ‘\Q\’\iNARE TUTTE CE ol
L R #)=
(F% (() 2,44 )(( )L+2/i+(') (-3¢

= 0w dee 140 -y -20 =0



20 () F e )z -
23 —C 1:'2‘ £+ O o)

) . .
O <~2Z° -r,Z,(iH)ZLL -dL
2t 312 +O

0 2E -3¢
L2 -t
0 O

%(22.) R T )
2 -

|

’?3 2) = (—2-(‘)(21’— «2/2+Zl)






ESERCIZA DI
RigPiLoGoO

100

3 3 [_Qﬂg(XJrcos(x)) -><+><‘:}AY
AEERRERAE LamnaRnZ:

5(336()
tD ISCUTERE LA CONYERGEN2A

DELL INTEGRALE INPROPRIO



+go 1
éf;ﬁ(xm: i 2,00 b ﬁB(x

Yy

X+cos(x) 24 ¥ xe [4,+n)

X ' -1 €4, +e0
Siﬁﬁ( Jdx g(x)-xu X€(H, 10)

J?AW :gﬁb() - Yom X' e Xz(iw()):

X-”(OO%Y) X—a0 X
hw e xA P (4r0ls)) =0

) S -I-oo



T (oN T RoNTo ASINTOTLCO
Com [ =g —> S%jnéx CONVERGE

@ Y
SJQ%MA,X CoNVERGE
. | A pe R
B@%S(X)Jx . RB=o,
£eR(04)
[R>o\

T —X
= e X) )J—At 2
a0 = & [lwoato)owonc]
(x






)@o%(\m Y- Yoy

<
= (x- £reat) 4 x- Kot o (x-ut)
— X—f—x
=/7,/io(>(") - X7 olx®) ro(x*) 7)4/
2 L 5
':O(X )
2 3
ogfs=y) = y= 5+ 4o ()
[ K= X ol®) 4 ( X =X rol 2)) 4

2 —— 2 2 ]
2
/Aj +é(X’%+O(K3))+

GoS(x )= 4 —Xﬁo(xﬂ 3
TP o( X—g‘—fo(xB)))—xfxt

K=K 0 () —3 x4 ol8) st xEo00)




40 x3) —/K\-/,: % X3 xo (X3)
)(D-Bbq — (4+0(t)) 3 (%+0(,)> L
X—0 X:‘B

= 7?\5—‘3( 5/6+0(:L\>

T, W N
CONT RoN TO | ,
N0 ¢

N (=2

CN L= 2;

C ONVERGE
SE E <ol© SE

B-3 <4

[Bed



